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2% Numbers 1
" | [ Yucnal ]

" Nwa  0.1,2,3,4,5,6,7,8,9 are digits. N
»ZIhN Two-digit numbers - 23, 89
Three-digit numbers - 436, 974

Wz Integers are all whole numbers,
PZIRN  positive and negative.

Llenute yucna ca NONOXUTENHU U
oTpuuatenHu, Ho He Apobu.

/ﬁ! 2 , \
0.1,2,3,4,5,6,7,8,9 ca Liuppu. rZI_.\g Negative numbers are all
LBy -umeppeHn uucna - 23, 89 numbers less than zero.
\_ TpuumMppeHu uicna - 436, 974 Y, Positive numbers are the numbers
greater than zero.
/ Place value \
\WJpZ The value of where the digit is in the number, 4 -3 -2 -1 01 234
»ZIhN such as units, tens, hundreds, etc. i
Thousands Hundreds Tens Units (2,418) Ovpuuarenturte umcna ca
> 4 1 8 NO-Manku oT Hyna.
TTonoxutenHurte uucna ca no-
LiugppeHa cToiiHocT vonemw OT Hyna. /
i CTOMHOCTTA Ha LUMPpATa B AGACHO YUCNO, KATO
eAVHULMN, AeCeTKU, CTOTULU, XUNSaU U T.H. ~N
k Xunagu Ctotuum Hecetku EavHuum (2 418) Write the value of 3 in

/\

2 4 1 8 3,578.

EP%Z Even numbers - 2,4,6,8,10,..,100 etc.

YA 0dd numbers - 1,3,5,7,9,11,..,101 efc.
YeTHu uucna- 2,4,6,8,10,..,100 efc.
HeuyetHu yucna- 1,3,5,7,9,11,..,101 efc.

HanuweTe ctouHOCTTA
Ha 3 8 3 578.
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| | Yucna 2 |
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A prime number can be divided exactly \
only by 1 or itself.
2,3,5,7,11,13 etc.
1 is not a prime number.

TTpoctute uucna morar Aa ce AenaT TOYHO
camo Ha 1, unu Ha cebe cu.

N
/1\

(N

|

Hanpumep 2,3,5,7,11,13 u T.H.

1 He e npocTo uucno.

Factors are numbers which when multiplied
equal another number, e.g. 3x5=15, so 3 and
5 are factors of 15, as well as 1 and 15
which are also factors of 15.

YMHOXUTENU €a YUCNA, KOUTO YMHOXeHU ca
pPaBHU Ha ApYro 4ucno, Hanpumep

3x5=15, taka ye 3 u 5 ca paxkTopu Ha 15,
kakto 1 u 15 ca cbwo paxkropu Ha 15.

Bosl w2
{3 ’C3~
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| A et 411 5
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A multiple is the result \
of multiplying a number by an
integer.

12 is a multiple of 3, 3x4=12

KpatHo e pe3yntartsbT OT
yMHOXaBaHe Ha YUcno ¢
Lano uucno.

%
N

s\ A prime factor is a factor which is a prime
»ZIhY nhumber.
2x3=6
i TTpocT yMmHOXUTEN e , YMHOXUTEN KOUTO e
\_ NpPOCTO 4mnco. )

Al

12 e KpatHo Ha 3, 3x4=12 /

~

a7 Find out the prime
PZAIN  factors of 21.

Hameperte npocrtute
yMHOXUTenu Ha 21.

. J




Addition

What is the sum of 5 and 8?
5+8=13

Kakea e cymata ot 5 u 8?
5+8=13




S Subtraction

(=i | [ WMseaxpare |

What is the difference between 23 and 7?
23-7=16

Kakea e pasnukata mexay 23 n 7?

23-7=16
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S Multiplication

J

m | | YMHOXeHue

\

What is the product of 7 and 5?
7x5= 35

(=
PZAInN

i Kakbe e npoaykTsT Ha 7 u 5?
7x5= 35




=& Division

== | | [OeneHue

/ A remainder is the number Iefm
s g when dividing numbers which do
4™ not divide exactly.

11+4=2 R 3 (R=remainder)

OCTATBbK € YUucnoTto, Koeto
ocTasa, KOrato agenum vucna,

k KOUTO He ce AeNnAT TOYHO. /

How can you share 12 pencils equally \
between 3 pupils?

/\

12+3=4 pencils for each pupil

Kak moxerte aa pasaenute nopasHo 12
monuea Ha 3 yuyeHuka?

/l] =

12+3=4 monuea 3a BCekU yYeHUK /
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Equals
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&%\
/\

Three times five is the same as
seven add eight.

3x5=7+8

TPM No NeT e ToJiIKkoBa KOJIKOTO e
cepem nnroC ocem

3x5=7+8

J




5% More than,
less than

[E Tloaeue TTlo-manko

L‘ VA 4 is bigger than 3, but smaller than 5.
3<4< 5

i 4 e no-ronamo ot 3, HO no-manko ot 5.
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S Perimeter
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| [ TTepumernp

o

/k‘ P4 Perimeter is the distance around a 2D
PZIRN shape.

i TTepumeTbp e pascrosHuero okono 2D
reomeTpuyHa QuUrypa.

N\ L2 . . -
i~ Perimeter of the triangle

18cm + 15cm + 15cm = 48cm

TTepumeTsbp Ha TPUBMBLAHUK =
i 18cm + 15cm + 15cm = 48cm

Perimeter = Side 1 + Side 2 + Side 3

Side3=18 cm

J




Area

] | TTnow |

2
PZAInN
-
S

~

Area means how much space a flat (2D)
shape takes up. We measure area in
square centimetres (cm?).

TTnow, osHayasa KONMKO MACTO 3aema eaHa
pasrbHata (AByM3mepHa) purypa.
Usmepeame nnouita B KBAAPATHU
caHTuMeTpu (cm?).

J

(v
PZAIRN

-

Area of a rectangle = length x width\

TTnow Ha NpABOBLIBLAHUK = ABAXKUHG X
WMpOUMHQ

J
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%< Volume

| | O6em

WA Volume means how much space a solid
(3-dimensional) shape takes up. We measure
volume in cubes, e.g. cubic centimetres (cm3).

- O6em 03HA4ABA KOSIKO MACTO 3aema
efHa TpuusmepHa purypa. Usmepesame obem B
Ky6uuHU caHTumeTpu. (cm3).

o J

/§; :< Volume of a cube or cuboid = length x \
width x height

i O6em Ha Kky6 unu napanenenunen
=ABKUHA X WKUPUHA X BUCOYUHA

V=4x1x2
V = 8cm?

2cm

/1cm

N Y
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straight line TTpaea nuHus
curved line Ussuta nuHua \
horizontal line XOpU3OHTANHAG NUHUA
T BepTukanHa nuHua
vertical line

diagonal line HduaroHanHa nuHua /

parallel lines TTapanenHu nuHun

perpendicular lines TTepneHaukynapHu nuHUM I 90°
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28  Angles 1
| | brnuv

[
EIVA Any two lines meet at an angle. An angle
PZIRN is measured in degrees (°).

:i /lee NMUHUK ce npecuyat B brbna. braute
ce usmepeat 8 rpaaycu (°).
A

\

- ~ |WY% An angle which
El_g This is a right angle. It is 90°. Vzl_ﬂ measures more than - 1g0¢
- ° e 180° is called a reflex
L i Tosa e npae vrun. Tou e 90°. n ) angle.

i brvn, kouTo e no-

ronam or 180° ce

\ Hapuua O6bpHAT BrbIl. /

4 . w
ANY” An angle which measures less than
PZInN 90° s called an acute angle.
A <40°
i bron, KOUTO e No- ManmbK,< oT
\ 90° ce Hapuya OCTbp Brbil. )

\WJP% An angle which measures more

\
vz than 90° is called an obtuse i
angle. st/
J

i brbn, KoUTO € No-ronam,> oT
90° ce Hapuya TbM Brba.

\_



//upload.wikimedia.org/wikipedia/commons/6/6c/Right_angle.svg
//upload.wikimedia.org/wikipedia/commons/6/6c/Right_angle.svg

B8 Angles 2

=B bram 2

(k‘ 2 A straight angle c Iiesoon a straight
y}l_m line and measures 180°. />/
b > 90°
a < 90°

M3npaseHUAT bron ¢ nexuv

- = 180°
Ha npasa nuHUA U e 180°. e

~

fk‘ W4 A full angle (= a circle) is made of four
PZINN right angles. It is 360° (4 x 90°=360°).

TTBAHMAT Brb e CbCTaBeH OT YeTupu
npasu bvrau. Tou e 360° (4 x 90°=360°

\_

@ »: Corresponding angles make an \

@ »4 Alternate angles are opposite
pZIaN to each other, created by one

line crossing two others. All
alternate angles are equal =
the same. 'Z’ shape.

H Korato ase nuHWUM ca npeceyeHu OT apyra
NUHUA Te o6payBaT NPOTUBOMOSIOKHU BISIU.

Te nexat eavH cpelly ApYyr U Ca paBHU =
\ efHaksu. 'Z' popma.

CboTBeTHUTe Brnu obpasyear

\ F-o6pasHa ¢popma. /



//upload.wikimedia.org/wikipedia/commons/d/d5/Circle_and_its_center.svg
//upload.wikimedia.org/wikipedia/commons/d/d5/Circle_and_its_center.svg

= 2D shapes 1
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ms | [ 2D ourypum 1

A square has four equal sides

4 mIVA
PZIRN agnd four right angles.

CTPAGHU U YeTUpU Npasu bIrbAa.

KeaapatsT Mima 4eTupu pasHu

I |
/

~ J
(- 4 A rectangle has four .right =% k@?\
angles and opposite sides
are equal.
’ = ]

TpaeobrenHUKLT MMma YeTupu npasu
Brbaa U Ase NO Ase NPOTUBONOSIOKHUTE
CTPAGHU Ca pPaBHW.

Ol A
[T¢Q W
K 1 .

/ A quadrilateral is

WNZE
N

any shape with four
straight sides. e

i YeTupuUbrbnHuK e
caka urypa C
Yetupu npasu

J

.
-

ww In a parallelogram, opposite sides are
7= parallel and opposite angles are equal.

Tlapanenenunea )
ABe NO ABe NpOTUBONOSIOXHUTE CTPaHU ca
\_ TlapanesnHu v NpoTUBOMOMNOXHUTE BIMU CA PABHU. )

)

CTPaHMU .

o




542D shapes 2 |
= | [ 2D qurypu 2 |

(% A pentagon has five sides
VAN qnd five angles.

b B perere 5
L WZIRN pairs of equal i
p ~N sides. 4 ,

APZ A hexagon has six sides and

P4 six angles. Xebpuunoro

uma ase no Age

i LWecToBLrbiHUK e 3urypa ¢ i eHaKBU

\_ WwecT CTpaHU u 6 bruna. J CTPaHMU. ’

N\

4 A trapezium has one set of

AYPZ opposite sides that are
VAN parallel.

i Tpaneu [ee oT cTpaHuUTe Ha -
\_

purypata ca napasjesiHu.

A rhombus has four straight equal N/

2 e
whs sides. The opposite sides are parallel

and the opposite angles are equal.

EPOM&M‘ uma 4 npasu, pasHU CTpaHU.
CpelllynOnoXHUTe CTPaHU ca ycnopeaHu u
\_ CpelynonoxHuTe bram ca pasHu.




=& Polygons
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| (MHOroBrbAHULM

4 sz A polygon is any flat shape with three or )

pZIhN more straight sides. When all the sides and
angles of a polygon are equal, it is called a
regular polygon.

MHOrobrbiHUK e Bcaka gurypa ¢ 3 unu
nosevye CTPaHU. AKO BCUYKU CTPAHU U Brau
€A €AHAKBW, MHOTOBIBIIHUKET € NpaBusieH.

;(C“Jr\@\ o

—)’ S
300: \) l"(‘

))\\':I)‘ ""’ Ok O{€
C.CO@OQ\%)‘H

wi Polygons can be regular or
4 irregular.

MHorobrsnHULUUTE MOraT Aa
6bAaT NPABUNHU U HeNpaBUITHW.

/ —ﬂ“\

triangle TPUDBMBITHUK
4  quadrilateral uersepobrbnHUK
5 pentagon NeTObr bAHUK
6 hexagon WeCTO b bIIHUK
7 heptagon CeAMODBIMbITHUK
8 octagon OCMOBIMbITHUK
9 nonagon NeBeTObIbIHUK

\ 10  decagon AeceTObrbIHUK
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Circles 1

(= | [ Kpvrose 1 |

™\ [~
PZainN
A tangent is a line

which touches the
circumference at only
one point.

A semicircle is half
of a circle.

Concentric circles are
circles which have the
same centre.

HonupatenHa: nuHua,
KOATO ce Aonupa AO
OKPBXHOCTTA CAMO B
efHa TOuYKa.

nonykpsr: TlonosuHata
OT Kpbr.

KoHueHTpUuHU Kpbrose:
Kpvrose, kouto umar
eAHAKDbB LIeHTbp.




Circles 2 SO —
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23 ]

21
paauyc: BCAKA eAHa
NIUHUA OT LeHTbpa Ha
Kpbra Kbm
nepugepusTa.
diameter: a straight line avamertp: npasa
from one side of the NUHUA, NpeMUHABALLG
circumference to the npes UeHTbpa Ha
other side through the  kpbra.

centre of the circle O6ukonkarta Ha Ha
OKPBXHOCT:

O circumference: the TTepumeTspBT Ha
perimeter of a circle OKPBKHOCT

radius: any line from
the centre of the circle
to the circumference
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Triangles 1

|

TpubrbnHuum 1
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)

Vi

A triangle is a shape with
3 straight sides. It also
has 3 angles. The points of
a triangle are called
vertices.

TpUBIBAHUK e
pUrypa, KOATO UMa
TPU Npasu CTpaHU U
TPU brbna.
TTpeceyHute TOYKU Ha
‘BrAUTe ce Hapuuar

BbpXoBe.

-/

Y

/\

1

The angles of a triangle
always add up to 180°.

\

. a+b+c=180°

C6opdbT Ha BBLTpelWHUTE Bram
BbB BCEKU TPUDBIBIHUK e
BuHaru 180°.

/
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== Triangles 2

L ] [TpM‘bl"b.nl-lMLM 2

= [é There are different types of triangles.

Equilateral Isoceles Scalene

\

I

Mma pasnuuHu suaoee TpUBIbAHULW.

A7 Isosceles - Two sides are the vertex point
ZS
same length. The two angles @% Scalene - All sides D
at the base are equal. ¥ahS and angles are
PasHobenpeH - [se ot different
CTPaHUTe ca C eAHaKBa
ABLIKUHG U ABA OT BrauTe ca PA3sHOCTPaHeH-
€AHaKBU. i BCUYKU CTPAHU U
A7 Equilateral - All three angles
ZS

BrU Ca Pa3NUYHW.
are equal. All three sides are \ /

the same length.
PagHocTpaHeH - Tpute brnu
ca eAHaKBU U TpuUTe CTPaHU
Ca eAHAaKBMU.

Right-angled - One of the angles
measures 90°. The longest side
is called the hypotenuse.
npaeobrbfieH - EAMH OT braute
e 90° u Hau-abRraTa cTpaHa
ce Hapu4a XunoTeHysa.

|

N/
/\

4




= 3D shapes 1
= | | 3D qurypu 1

(
.

A cube has 6 square Ky6bT uma wecT eaHaksu
faces all the same KBGAPATHU nuua, 8 Bbpxa
size. It also has 8 u 12 pvba.

vertices and 12 edges.

A cuboid has 6 TTpasobrbnHuaT
rectangular faces, 8 napanenenunea uma 6
vertices and 12 edges. NpaBOBIbIHM nuua, 8

Bbpxa u 12 pbba.

A square-based pyramid nupamuaa c kesaapatHa
has 1 square face and 4 ocHoea uma 1 keaapatHO

triangular faces, 5 nuue u 4 TpUBIrLAHU
vertices and 9 edges. nuvua, 5 sbpxa n 9 puba.
A sphere has only one Cgpepata UMa Camo enHo

curved face, no vertices wu3BUTO Nuue, HAMa
or edges. BbpXxoBe unu pbbose.




=8 3D shapes 2
| | | 3D purypmu 2

e

S T

A cone has a circle as  KoHycbT uma Kpbr 3a

D

its base, a curved OCHOBAQ , U3BUTO NvLe U

face and a point on 3aBBPLIBA C OCTHP BPbHX.

the top.

A prism is a solid npusmata e 3D qurypa,

shape with matching C eAHaKBU Kpauvwia. Ta f\
ends. It has the same uma eaHo u cbuo A
cross-section all across HanpeuHo ceueHue no | -
its length. LUanaTa cu AbIIKUHG.

A cylinder has circular LunuHabpsr uma 2

faces at each end and eaHaksu ,

a curved face. NPOTUBOMONOXHU,
Kpbram nuvua v 1
W3BUTO NULe.

A net is what a 3D shape would look like if it were opened out flat.
Mpexarta Ha 3D ¢gurypa e pastsopeHa Ao 2 D ¢purypa.




=& Symmetry
| | Cumetpus

(\1 p4 Symmetry is when you divide a shape in \
VAIN half and one half matches the other
exactly if you fold it or reflect it.

S

CumeTpua e, KOraTo uryparta e

i pasaeneHa Ha ABe U eAHATA MOJSIOBUHA
TOUHO CbBMAAAG C APYraTa, ako A CrbHeTe

\ unu Aa a otpasurte. /

/k‘ % The line which divides the shape into 2 equcN
pZIAN parts is a line of symmetry. Different shapes

can have O, 1, 2, 3, etc. lines of symmetry.

0 1 4

JNuHuaTa, Koato paspens opmara Ha 2 pasHU
i YaCTU e NUHUA Ha cumeTpusa. PasnuuHmu popmm
\ morat aa umat 0, 1, 2, 3, U 1.H.. NTuHUM Hy

cumeTpua.
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S Order of rotational symmetry

4 . 5 2
i ] Ll‘lopsm'bx Ha pOTALMOHHA cUuMeTpus o
o ) 4 3
4 swppg Rotational symmetry is when a shape is )
»ZhhN rotated a few times without changing its Order 5
form.

PoTtaumoHHa cumeTpusa e, Korato gurypara
ce 3aBBPTA HAKONKO NbTU, 6e3 Aa npomeHs

\_ popmarta cu.

Order of rotational symmetry
TTopaa®bk Ha pOTALIMOHHA cumeTpus

Order 1 Tlopagbvk 1
(n:ne) pas

Order 2 Tlopaabk 2 $

Order 3 Tlopaabk 3 \);

Order 4 Tlopaabk 4 *
Qier 5 Tlopaabk 5 *




== Transformations 1
_msi | (TpaHcpopmaumm

4 )

W% Rotation means turning around a
pZIN centre.

Potauua osHa4aea 3aBbpTaHe OKONO
LieHTbpa. y

1

Reflection is when a shape is flipped over
a line.

A
/N

OTpaxeHue Ha guUrypaTta OT Apyrata CTpaHa

1

HG NUHUATG. P
(AWZ4 Translation means moving/sliding the shape N
1[N

without changing it.

TpaHcnauuws osHayaea npemectsaHe /
nnb3raHe Ha gopmarta, 6es aa s NpomeHsme.

|

J

\_

iy
VA

Congruent means the same.

/\

CxopneH o3HaYaBa efHAKbBB.

7




=Transformations 2

7

= || TpaHcopopmauum 2 |

A% Tessellation is a repeated pattern of
IR  shapes.

1 Tecanauma/ mosaiika e NOBTOpsHe Ha
puUrypu.

w4 Enlargement means to make
y+n bigger.

YronemasaHe o3Hauyaea Aa
ce Hanpasu urypara
no-ronsma.

W% Scale factor is the ratio between two sets
»ZIaN of drawings, e.g. scale factor 2 (ratio 1:2)
A is 2x bigger than B.

MauwabeH koe@uuMeHT e CHOTHOWEHUeTo
mexay 2 gurypu,Hanpumep MauiabeH

KoeguuueHT 2 (=cboTHOwWeHue 1:2)
A e 2 nbTM Nno-ronsm ot B.




Favorite Pets
Tally Marks Number

Attt it
]

m | [ CtatucTtuka 1

(" . . .
ANY”Z Data is a collection of facts, like values o
P4  measurements.

i basara AaHHW e Konekuua OoT (pakTU, Kato

5% Data handling 1 |
]

At |

\ CTOWHOCTU UNU U3MEpPBAHUA. )
/ l Data / OaHHu | \
- uali1:a1'ive /
Quantitative / [ CIQ( ]
avecTBeHa
KonuuecteeHa L
Discrete / Continuous / 7 N
oTAesnHa You can describe
TTpoavnxutenHa it / Moxe aa ce
onuwe ¢ Aymu
Can be counted Can b ' y ~ ’
/ MOFaT fa ce an be measure :
6posT within a range / The film was
L moxe na ce usmepu || funny. / Bunmer

L  bewe cmeweH
\ 3 boys | = /




=% Data handling 2
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m= | | Cratuctuka 2
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The mean is the average of a set of \

numbers. To calculate it: add up all the
numbers and divide by how many numbers
there are.

2,2,4,6,7, 10, 11

2+2+4+6+7+10+11=42 42:7=6 The mean is 6.

CpefiHO QPUTMETUYHO e CpeAHATa CTOMHOCT Ha
HAKONKO Yucna. 3a Aa ce usumucnu: cubepete

BCUYKU YUCNa U U pa3saenetTe Ha 6p0$| Ha /

yucnara.
w4 The median is the middle number in a set
AN of numbers.
2,2,4,6,7, 10, 11 The median is 6.
MeavaHa e yucnoTo B cpeaata B peauua OT
yucna. J

~

TH [T
/1N

The range is the difference between the
lowest and highest values.

11-2=9 The range is 9.

O6xBaThT e pasnuKkara mexay Hav-Huckata u
HaiA-BUCOKUTE CTOUHOCTU.

(E,A, Always put the numbers in )
'/-Iﬂ order, smallest to largest!
mml BuHaru noapexaaiite uucnata

\_ no ronemuHal )

ch

CI_ The mode is the number whi
PN gppears most often in a set of
numbers.
2,2,4,6,7, 10, 11
The mode is 2.
I Hali-uecto cpewHoTo umucno 8
\_  PeAua ot uucrna. Y,




— Gr. a h S 1 rainfall in 1-6th January
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Graphs 2
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Fruit Collected

Use a bar chart
when you want to
compare things
between different
groups.

Use a line graph to

track changes over a
long or short period

of time.

A pictogram uses
pictures to show
data.

Use a pie chart to
compare parts of a
whole.

U3nonseaiite
TTpasobrvnHa rpaguka
AQ CpaBHUTE HAKONKO
pasnuyHuTe rpynu.

Msnonssaute nivHelHa
rpagpuka 3a npocneassaHe
Ha NPOMeHU B NpOABbIIKeHUe
Ha ABABI UNU KPATDBK
nepuoa OT Bpeme.

KaptuHorpamaTa usnonssa
KapTUHU 3a Aa nokaxe
AQHHU.

M3nonseaute naui-auarpama
Aa CpasHUTE 4acTu OT eaHOo
uano.

rainfall in1-6th January

=
=
=
o
e
=
@
b

35
30
25
20

Favourite pets of pupils in our class

Pets

Frequency

dogs

7

rabbits

4

cats

10

guinea pigs

10

horses

5



s& Fractions 1
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(=) [ Opobu 1 )

2 2X5+2

2 = =
5 5 5

> _—
LN

~

3 — Numerator (fop)  uucnuten
8 — Denominator (bottom) 3HameHaTen
21 Mixed number - CmeceHO vucno -
2  whole number and  Usno umcno u

\ proper fraction npasunHa [po6 /
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S Fractions 2

7

m | | [Opobu 2

\

Impr'oper' fraction HenquM NHa npo6

(top larger than (ucnutena e no-ronam ot
bottom) 3HameHaTens)

TIpasunHa apob
(uucnutena e no-manbk
OT 3HaMeHaTens)

e = N\
6
4
3
8

Proper fraction
(bottom larger
than top)

Equivalent fractions
ExsuBaneHTHU apobu




g Decimals 1 |
=l | [ peceTnuHm apobu 1)

B3 _

N7 , o
iy Remember the decimal point!

— 3ATIOMHETE pecetuuHaTta
fr‘achon decimal =& 3aneTas ce nule KATo Toukal

‘1' You can also write
parts of a whole

1 whole 1.0 .
number as decimals:
=N B
@ Y 0.25 MoxeTe aa HanuweTte

4YacTU Ha eAHO LANO
YMUCNIO KATO AeceTUYHU
Apobu:

decimal places umppu
O‘ 65 <~ cnep peceTuyHata 3aneras

\ Tdecimal point AeceTU4Ha 3aneTas /
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| [ meceTnuHm apobu 2 |

QJIE Add decimals: Line up A

VAN decimals and add.

i CbbupaHe Ha AeceTUYHU
npobu: noapepnerte apobute
efHa noa Apyra, AeceTUdHuTe

136.04 +102.27 —#~156.04 3aHauu Tpabea Aa cbLBNAAAT U
+102.27 cnbeperTe.
\_ 23831 )
(W : , ~
Subtract: Line up d |
S Cooiract: Line up decima i MssaxaaHe, CHLUOTO

points and subtract. NPaBsmsIo BAXMu.

75.25-3.21 —>  75.25
- _3.21
\_ 72.04 )
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=% Percentages

mi | [ TTpoueHTU
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Pahs L
Percentage means TTpoueHT o3Hauaea
. __out of 100'. "or 100"

is the same as 0.25 or 25%.
is the same as 0.5 or 50%.
is the same as 0.75 or 75%.

WNYZ
PZEInN

Blw vje pj=

0.7

percentage =2 decimal (= by 100) 70% = O.
70%

decimal —3 percentage (x by 100) 0.7

e cbuoto kato 0.25 unu 25%
e cbuoTto Kkato 0.5 unu 50%

1
3
1
2
% e cbwoto kato 0.75 unu 75%

TTpoueHT =2 peceTuuHa Apo6(= 100) 70% = 0.7
AeceTuuHa Apo6 ——>TTpoueHt(Xx 100) 0.7 = 70%

%
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= Volume/capacity
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Volume
Capacity
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The measure of the

a solid object

amount of space inside

~

i obem /emecTUmocT

M3mepsaHe Ha
NPOCTPAHCTBOTO BbTpe

B8 npeamera.
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Metric Units

ml millilitre

I litre
cc cubic centimetre

Imperial Units
fl.oz fluid ounce
pt. pint

Qﬂ. gallon

MeTpuuHu eavHULU
MN MUNUNUTDBP
N AUTHP

Ky6.cM. KybuueH
CAHTUMETBP

MmnepuanHu eauHuuu
fl.oz TeuHn yHUUU
pt. nuHTA

Fan. ranoH /

20 fl.oz. = 1 pint

1 gallon

5 litres [-—E 200ml
L,J



S Weight/mass
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" mal | | Termno / Maca
ég Mass i Maca \

The measure of the MspkaTta Ha KOnNU4ecTBOTO
amount of matter in a martepusa B8 TBBpAU

solid object npeameTu.

Weight Terno

The weight of an object Ternoto Ha npeamert ce
changes with gravity. NpomeHsa C rpasuTauuaTa.

GVA Metric units i MeTPULYHU eauHULM \

P4 mg milligram MIF MUAUFPAM
g gram rp rp
kg kilogram K Kr
Imperial units UMnNepuanHu eanHuumn
0z ounce yHUUS yHUUS
Ib  pound LB nayHa

\ st. stone ST. KambK /

1000mg = 1g 160z = 1lb
1000kg = 14lb = 1 stone

1 tonne (ton)
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Length/distance
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i] [ OvnxuHa/ pasctosHue ]
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Length is how long things
are.

Distance is how far things
are.

A pen is 20cm long.

London is 199 miles from
Wanchester'.

- )

OvnxuHa e Konko avnru
ca Hewara.

Pa3ctosHue e kKonko aaneu
ca Hewara.

EaHa xumukanka e agbnra
20 caHTUMerTpa.

JloHaoH e Ha 199 munu ot
MaHuyecTbD. /

ANY”ZE Metric units

Imperial units

in inches
ft feet
yd yards

i MEeTPUYHU eaAUHULU \

PZIRN mm millimetre mm mm
cm centimetre cm cm
m metfre mm
km kilometre km km

ummnepuaiaHu eanHuuuU
UHY

PpyT
apA

/

10mm = 1cm

100cm
1000m

1m
1km

12 inches = 1 foot
3 feet = 1 yard

8cm
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HE Time
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= | Bpeme ]
(;VA Time i Bpeme \

\

ZAIRN
At what time? B konko uaca?
How long did it take? Konko speme T1 otHe?
(o 5 Konko speme npoabnxu? 60s = 1 minute 60 s = 1 MuHyTa
How long did it last? P P 24h = 1 day 24h = 1 peH
How long did she spend? T4 konko speme e 60 mins = 1 hour 60 mins = 1 uac
npexapana ? / 7 days = 1 week 7 pHu = 1 ceamuua
—
NZ . \
/;A é Units of time i EQuHULM 3G Bpeme
s seconds ceK ceKyHam
min minutes MUH. MUHYTU
h  hours 4 yaca
wk weeks ceammum
yr Yyears roa roavHa

\ p.a. per annum roauwHo /




=% Temperature
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(==l | [ Temnepatypa |

;; s Temperature i Temnepatypa \
Hue usmepsame
We measure temperature TemnepaTypata
in degrees Celsius (°C). B rpaaycu no
Lensunt (°C)ue
We also measure temperature rpaaycu no
in degrees Fahrenheit (°F). EapeHxaiit (°F) .

J

Temperatured O

=

ar? =R

boiling point of 100°C  TOYKa Ha KuneHe Ha
water BoAaTa

o
body temperature 37°C  tenecrata Temneparypa
freezing point of o°c TOYKa Ha 3ampbisaHe
water Ha BOAATa

N /




=& Comparison

1N
15°C is lower than 25°C
13kg is heavier than 25g

150m is longer than 120cm
90! is more than 20ml

-

15°C e no-Hucka
Temnepatypa ot 25°C

13kg Texar noseue ot 25g

150 meTpa e no-abnro
pasctosHue ot 120cm

90L ca noseye ot 20ml




AN 100p = We write prices like this: £3.25
ZN nuwem uUeHu Taka: £3.25




E& Instruments
) [ YepTOoxHU
| WHCTPYMEHTU

set square TPUBIMBJHULMU

protractor ®brnomep

compasses nepren

\_




